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#!/bin/env python3
def volume_cone (radius, height) :
pi=3.14 CORSNEBESR
) . ) . (BTFVHEND BB TER)
return radius * radius * pi * height / 3

print(volume_cone(3, 4))
# print(pi)
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#!/bin/env python3

pi=3.14

def volume_cone (radius, height) :
return radius * radius * pi * height / 3

print(volume_cone(3, 4))
print(pi)
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def volume_cone (radius, height) :
return radius * radius * pi * height / 3

def volume_cone_fine_grain (radius, height) :
pi = 3.1415926535
return radius * radius * pi * height / 3

print(volume_cone(3, 4))

print(volume_cone_fine_grain(3, 4))

print(pi)
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def recur (x, n)
y=..
ifn>=0:
y =y + recur(x, n-1)

return y
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